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10.

thS 183 Zo] AD//BC Q1 AHHE]E ABCD |4 aDCO 9] B o]
7} 40 & W, AABC 9] ol & F-stofzt,
(&, 2A0 =CO )

vV V¥
0
it

120

S5 ~
AABO = ADCO = 40
E,2A0 =CO o|2 &2
- ABOC = 80
w2}A AABC = AABO + ABOC = 40 + 80 = 120




11. o2 SHAEE A AOAD = 8cm?, OD : OB =2: 3¢ o, th

=39 Holg Fatofeh

(3)

A D

(1) AOAB 9] B o]
(2) AOCD 2] Y o]
(3) AOBC 2] B 0]

o

it

(1) 12 cm?

0
i

(2) 12 cm?

v VvV v v Y
o
i

0
L

(3) 18 cm?

B ‘

(1)OD:0B=2:3°]|2&
AOAD : AOAB=2:3

. AOAB = gAOAD = g x 8 = 12( cm?)
(2) AOCD = AACD - AOAD
= AABD - AOAD = 12( cm?)
(3)OD: 0B =2:30|B&
AOCD : AOBC=2:3

. AOBC = ;AOCD = g x 12 = 18( cm?)




12. o SHAR}E]EA AOAD =4cm2, 0D : OB =1:2¢ uf, t}&
T3 9] yolE Fotofet.

A D

N

(3)

(1) AOAB 9] o]
(2) AOCD 9] Y o]
(3) AOBC 9] Y o]

it

o

(1) 8 cm?

0
o

(2) 8 cm?

vV V VvV v v V
0
i

0
n

= (3)16cm?

~&B ~

(OD:0B=1:20]2&

AOAD : AOAB=1:2

. AOAB = 2A0AD = 2 x 4 = §(cm?)
(2) AOCD = AACD - AOAD

= AABD - AOAD = 8(cm?)

(3)OD:0B=1:20]2%&

AOCD : AOBC=1:2

. A0OBC = 2A0CD = 2 x 8 = 16(cm?)




/ABC + /BAD = 180°°]|2 2 /GBA + /FAB = 90°°]1,
AABE A /AEB = 180°—90° = 90° ©]t}.

utzb712|2 /EGH = /EFH = /CHD = 90°°|2.2 gEFGH &
Z)ALZEgg o] Tt




14. o8 Y3 22 A3 ABCD ¢ ¥ AD, BC $]9 AF = EC,
(AFC =150° & o, £x 9] 7] & +stoiet.

A E D
x

150°

> ®EFD 150°

DAFGEE BHAMPo|L, 5 tjzho] 27k 2ong x —
150 ° o]t}
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16. S 1HA BP:CP=CQ:AQ=1:3 A
olty, AAPQ = 24cm? ¥ W, AABC 9] 4

o2 Fatofa}.
Q
BL— C
> [l cm2
> me: 128 e
3

AAPC = 24 x % = 32(cm?)

. AABC = 32 x %l = %(ch)




17. o2 199 AD//BC9l Attta]E ABCD oA AE//DC ¥ u,
OABED 9] Ho]=?

A D

\

\

\

5cm

/ C

~~6cm- E4em”
D) 25¢m?2 @ 30cm? ® 35cm?

@ 40cm? ® 45cm?

AE //DCo|B2 7} &o]7} Zo} AAEC = AADE €]t}
OABED = AABE + AADE = AABE + AAEC = AABC

1
- O0ABED = 3 X5 (6 +4) = 25(cm?)




18. ttg 19} e AABCo|A AC//DE°]1, AABC = 40cm?,
AABE = 25cm?o]th, AADC 9] Yo7l xem?2 Y W, x 9] #e +
sfofet,

A
D,
B o C
» £
> He: 15

S5 \
AC//DEo|B2 Wiy} o|7} Zo B g AADE = ADEC ©]
}.

ADBC = ADBE + ADEC = ADBE + AADE = AABE =
25(cm?)

- AADC = AABC - ADBC = 40 — 25 = 15(cm?)

o x=15




19. AARZFE ABCD 4 A M, N2 AB, BC ¢ $3°]th. DABCD =
50cm? & o, oMBND 9] Y o] & 5132

A D

M

B N C
@ 12.5c¢m? @ 20cm? ®)25cm?
@ 27.5cm? ® 30cm?

A M, N o] 5% AB, BC & do|nz

oMBND = %DABCD = 25cm?




20. TS I™AH YAZE ABCD M HEE 4 D
AB © A4 91 WO|IDE S BC o @ |
o] F olt}. oluf AFEC ©] ¥ol=? s

\l2¢ Z 3 Cn

@)

® lcm? @ 15cm? @ 2cm?

@ 3cm? @4 cm?

4 BD & 12WH, ABFD = AFEC ©|B2&

1
AFEC:§x2x4:4(cm2)




21. & I1¥o)|A AC//DE ¢ u, AABC = 24cm? ©|t}. oABCD 9]
Blo]E Folofet,

D

‘60m/@\4crﬁE

>
[> H™EF. 40cm?

B ~

AC//DE ©]|E& AACD = AACE
oABCD = AABC + AACD

= AABC + AACE
= AABE
(£°]) =24x2+6 =8(cm) O|EZ

OABCD = AABE
=10x8x % = 40(cm?)




AB//DC, AB = BC, ACLBD
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24. ©he WPAPAFG ABCD 7} kSRS Hlefd thg 3 of@ £710] o
glojo} shn] B Fefel,
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